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To what pressure
would you have to
compress 48.0 L of
oxygen gas at 99.3 kPa
in order to reduce its
volume to 16.0 L?

V. =4%.0L
P1 =4?, £ KPC[

V=100
3 oF

Xo
WL\al
fresswel
V=7

Boyle's Law
applies for these
variables

EA—Y&.: ng
Vi W2

(99.3 Kpa)(48.08) = P,
(1608)

f,= 297.9 K
=216 Kb

2 SF

A chemist collects 59.0
mL of sulfur dioxide
gas on a day when the
atrmospheric pressure if
0.989 atm. On the next
day, the pressure has

changed to 0.967 atm,
What will the volume

of the SO, gas be on
the second day?

Vi= 54:0 ml.

nﬂ:ﬂ. 194 g
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= (.99 FF%)
(5.0 ml)
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A sample of argon has Charles’ Law .
a volume of 0.43 mL at | V/, ;O' 43 mlL T _ ? applies here - v, - 'E:%?}'_ W?)/ lf(
24°C. At what T,=247K 2= ' (297 KNO57 mbk) = T, b
temperature 1n dGEI'CGS vl L (0.43 %) 2_ 52
Celgiug will it have a 2 = m - _
volume of 0.57 mL? 0.57 (T s X7 1= Kzl_u Ty 30

b B 2 Vi 2
. o ia g
Lat273.15 L oF (qaGwed) (12: 200
Helinm gasina W-:; 2‘{0 L 0@
balloon ies 2.40L - _
at 400. Ig;c\:%at T;': Yo. K = (‘[;\)\/1 \/2@ \/:z: %‘Iﬂ \f?: (2-14 (300\00 \/2_: . gL

lume will it occu ' — - :
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A mylar balloon 18
filled with helium gas
to a pressure of 107
kPa when the
temperature is 22°C. If
the temperature
changes to 45°C, what
will be the pressure of
the helium in the
balloon?

27 45
1273115 427315

P, =07 kPa
T; :qu K

T=314 K

2 4F

7

H

b

Gay-Lussac’s
Law applies
here

l&t&z PoAxs

et

Ty

(318 ¥)(107 kPa)é =P,
(295K |

=15 6y)

55F

SR

2%5115  31¢US

A sample of hydrogen
at 47°C exerts a
pressure of 0.329 atm.
The gas is heated to
77°C at constant
volurpe. What will its
new pressure be?

T=320.k
P[ =(), ?)2‘? a{‘m
123350, K

-7

P=

Wl

[=0. 52%@(350. K)

(322:4)

[=0.359% o}

0.%0
i hm

55F
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Avogadro’s Law N/A ~ no
. applies for these .
A chemist produces , equation, a
variables
0.712 moles of H2S V= 7 b simpl
: ; \ . ple
during areaction. At |fn=/17 Z moles ) )
STP, what volume in N TP 1 mole of any dimensional A
Liters will this gas (:‘V‘ i gas @STP = analysis o5 GHRS L
occupy at STP ] .
224 L conversion
A sample of gas \\;, Y } | f%‘v" coa [I i?if'ﬁ N/ A .- no E
occupies a volume of Y b molés J equation, a . -
681 Liters at STP. W STV 5 o simple oty 1 ! \ﬂ{,gg : -
How many moles of - [ vole = ) i B 24 y %, i
this gas are present at ' o _ dimensional | " ,1 olés
STP? Ad L analysis A L T
. - DC :L{"i«;t 753 P
conversion
- 5 "\C\ . o~ S .
5.00 L of gas is known g {;;’ N ,-f\"w,{jﬂéh’i e PRY R
to contain 0.965 mol. If ”1 0 e NRE Na N Ve gL L EO ;}%*P’ SL0L =3
ﬂle &Il'lOUnt Of gas is !rfﬂ{y' E -, Kz- J— -{-;i»wm--m_,. N \._.:_-"’__MWM-N—“;’ /%f \: ?\ r -
increased to 1.80 mol, o b G e n. n 1 0F féf?/@-b i
what volume will the = .%Omo\ 1 z
gas occupy? Y g_ - j’,?Z(( .
- g | TPy 4
o 3 ) T e r— - R VESE {{ { é_,
1. What does the “STP” abbreviation represent? (L} %ﬁl_\’d 1-’ ‘ﬁmp( retLive Fress
~, ) B
2. What is standard temperature in degrees Celeius? Kelvin?  / C { 1O

3. What is standard atmospheric pressure in atm? kPa? mmHg?

4. What is molar volume?

el = 22,4 L@

STP

DFC 101225 K



NeunZikidha”

YA i .
0) \6 J z \ed _____Q;q?—-———-" : ? _ ¥ B0l ;;Iqooqgggggulfnng;
L ~o4Q' d ~EAE _-:l * —70 Oq ) {\ JOTVLLIO sumjos
(7”7 L) (d gb} \6/\ /\ d I\d . \% \C’d}@’gb = ld 93 SINPAL O} papei;gu
If\[d - \% MD’]E;?V(OG . _,H_’LL_;]A aq Tia eanssaxd 1eg
‘ {FWM[OA MU
S /’9'}"7 _ oY} ST IEYM -Dogl o
7 10 - ¢ o1y 9% | St
0 M | Z)az 77001 = A % - of
a 3 | T emmedun s
_ C_ A L . MY SO | grzeGr L] Trxs0r g0 cwmon
(7,0%501). ([{@g@ nCL=T | sy | ¢ | © ST Ty

7,00%60°1 = A

JOYSHAO A e T NPOIA L MU{)
AD)SITIY ) PIIdUBAPY

POl h9> oweN SWA[qO1J PIBLJ PIXIIA - SME'] SED)
A




ot (AT o Lusac) p - BT | o et ) —
R 320(5 K 0 =7 Lo T, 2 SZO iy
pressure 0 e.a ao . ) !?32 S
T |70 % 1.5 P,- 35984375
volume. Wha]i vgill its E\ - 77-# &75 T| TQ—., th’ﬂ
AR (T 94

(Y = ‘N A0,
£0.81 moles of g n|: 016[ N /) aff\‘l ng‘ ___,__\,./-%/—--—j' 0 :(BDFOM (Omg(,
H (.81 moles of gas Mo z 5
occupies 14.7 L of A { L
gpaceiundgirﬁa pa.rf!:ilcmal' \/l - !L*.:? L —’\AJ _ ._—\r{-%" 34 7/M
seto conaS oLs, :W : | ﬂ 3\
ooy o [Va 500 ! = 475510,
?agfesgz;ziins‘? I"'YID l

s o Jriogad0’ $TH] Imol

e aesr |\ 71870 - NV
iy | @STP ol -2 = 00826
measured at standard . |
temperature and @ (S ] F
pressure?
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